RELATION BETWEEN PASCAL'S TRIANGLE AND VOLUME OF HYPERCUBES

KOLOSOV PETRO

ABSTRACT. In this short report famous binomial identity

$$\sum_{k=0}^{n} \binom{n}{k} = 2^{n}$$

is generalized and relation between Pascal's triangle and volume of m-dimension n-length Hypercube is shown, where (m, n) are positive integers.

1. INTRODUCTION AND MAIN RESULTS

In this section let review and generalize well known fact about connection between row sums of Pascal triangle and 2-dimension Hypercube, recall property

(1.1)
$$\sum_{k=0}^{n} \binom{n}{k} = 2^{n}$$

Now, let multiply each k-th term of of n-th row of Pascal's triangle [1] by 2^k

1

Figure 5. Triangle built by $\binom{n}{k} \cdot 2^k$, $0 \le k \le n \le 4$.

We can notice that

(1.2)
$$\sum_{k=0}^{n} \binom{n}{k} \cdot 2^{k} = 3^{n}, \quad 0 \le k \le n, \quad (n, \ k) \in \mathbb{N}$$

Volume of n-dimension hypercube with length m could be calculated as

(1.3)
$$m^{n} = \sum_{k=0}^{n} \sum_{j=0}^{k} \binom{n}{k} \binom{k}{j} (-1)^{k-j} m^{j}$$

where m and n - positive integers, see [5].

Date: November 1, 2018.

²⁰¹⁰ Mathematics Subject Classification. 30BXX.

Key words and phrases. Power function, Binomial coefficient, Binomial Theorem, Finite difference, Perfect cube, Exponential function, Pascal's triangle, Series representation, Binomial Sum, Multinomial theorem, Multinomial coefficient, Binomial distribution, Hypercube.

Proof. Recall induction over m, in (1.1) is shown a well-known example for m = 2.

(1.4)
$$2^{n} = \sum_{k=0}^{n} \binom{n}{k} (2-1)^{k}$$

Review (1.4) and suppose that

(1.5)
$$(\underbrace{2+1}_{m=3})^n = \sum_{k=0}^n \binom{n}{k} \cdot (\underbrace{(2-1)+1}_{m-1})^k$$

And, obviously, this statement holds by means of Newton's Binomial Theorem [2], [3] given m = 3, more detailed, recall expansion for $(x + 1)^n$ to show it.

(1.6)
$$(x+1)^n = \sum_{k=0}^n \binom{n}{k} x^k$$

Substituting x = 2 to (1.6) we have reached (1.5).

Next, let show example for each $m \in \mathbb{N}$. Recall Binomial theorem to show this

(1.7)
$$m^{n} = \sum_{k=0}^{n} \binom{n}{k} \cdot (m-1)^{k}$$

Hereby, for m + 1 we receive Binomial theorem again

(1.8)
$$(m+1)^n = \sum_{k=0}^n \binom{n}{k} \cdot m^k$$

Review result from (1.7) and substituting Binomial expansion $\sum_{j=0}^{k} {k \choose j} (-1)^{n-k} m^{j}$ instead $(m-1)^{k}$ we receive desired result

(1.9)
$$m^n = \sum_{k=0}^n \binom{n}{k} \cdot \underbrace{(m-1)^k}_{\sum_{j=0}^k \binom{k}{j}(-1)^{k-j}m^j} = \sum_{k=0}^n \binom{n}{k} \sum_{j=0}^k \binom{k}{j} (-1)^{k-j}m^j$$

$$= \sum_{k=0}^n \sum_{j=0}^k \binom{n}{k} \binom{k}{j} (-1)^{k-j}m^j$$

This completes the proof.

Number of elements $k-{\rm face}$ elements $\mathscr{E}_k(\mathbf{Y}_n^p)$ of Generalized Hypercube \mathbf{Y}_n^p equals to

(1.10)
$$\mathscr{E}_k(\mathbf{Y}_n^p) = \sum_{j=0}^k \binom{n}{k} \binom{k}{j} (-1)^{k-j} (p-1)^j$$

To verify the expression (1.9) use Mathematica code:

$$\label{eq:intermediate} \begin{split} \mathbf{In}[19] &:= \mathbf{Sum}[\mathbf{Sum}[\mathbf{Binomial}[n,k]*\mathbf{Binomial}[k,j]*(-1)^{(k-j)}*m^{j},\\ & \{j,\ 0,\ k\}], \{k,\ 0,\ n\}] \end{split}$$

It could be found at .txt file in the last line here.

References

- Conway, J. H. and Guy, R. K. "Pascal's Triangle." In The Book of Numbers. New York: Springer-Verlag, pp. 68-70, 1996.
- [2] Abramowitz, M. and Stegun, I. A. (Eds.). Handbook of Mathematical Functions with Formulas, Graphs, and Mathematical Tables, 9th printing. New York: Dover, pp. 10, 1972.
- [3] Arfken, G. Mathematical Methods for Physicists, 3rd ed. Orlando, FL: Academic Press, pp. 307-308, 1985.
- [4] The OEIS Foundation Inc., The On-Line Encyclopedia of Integer Sequences, 1964-present https://oeis.org/
- [5] Kolosov, Petro. Series Representation of Power Function, page 12, arXiv:1603.02468, 2018.
- [6] N. J. A. Sloane and Mira Bernstein et al., Entry A007318 in [4], 1994-present.

E-mail address: kolosovp940gmail.com *URL*: https://kolosovpetro.github.io